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6 LUUOOoogog

O00.0000 10000000, (0000O00o0Dooooooooooo0,oo,o
O0oo0oooooooooooooon.)

.

2x1 4+ 319 — dr3 =1 T1+ 2o +a3=1
(1) $1+[E2—ZE3:2 (2) 2I1+4CL’2—ZE3:6
—3371 —633'2—|—2.1'3 = -7 .T1—|—3$2 —2]73 =5

171+I2+l’3:0
(3) ¢ 2wy +4wy —23=1
J]1+3172—2ZE3:—1

00 6.1 0000 10000000, (DODDOODODU0DODODODODOUOODOOOO, O
0,000000000000O0ODOOOOOO.)

3wy — 3 = —3
1+ 9T 3 (2) 2371 - 2$2 - 3.773 =2

31’1 — 3152 — 5[[’3 =4
(1) { T+ Dr9 — 3x3 = —7
—31‘1 + 3%2 + 10.1’3 =-9

201 + 20+ 323+ 024 = 3
Ty + 2109 — 913 — 2204 = 6
3r1 + 29+ 83+ 924 =3
Tx1 4+ bxy + 1324 = 15

ry + 2.172 — T3 = 4
(3) ¢ 3wy + 629 + 623 = —3 (4)
—21’1+ZE2—J]3 =2

ud 6.2 0000 100000000000 OO0OO0O0 eOODOOOOO. OOO
00000 (booooOoOooooooo)oooo.

T+ 225+ 323 = a
4I1+5ZL‘2+65L‘3:0
7$1+8$2+9$3:3



